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Suppose the graph of 
[image: image25.png]


 is translated 4 units to the left and 5 units up.

1.  Write an equation, in vertex form, for the image.  _____________________________________________________

2.  Suppose the point (2,8) is on the preimage.  

      What point on the image corresponds to this point?  ________________

3.  True or False.  The image is congruent to the preimage.  _______________________

[image: image1.emf]
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Consider the parabola with the equation 




[image: image2.emf]y+3=3(x+4)
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4.  What is its vertex?  __________________

5.  What is the equation of the axis of symmetry?

6.  Graph the parabola on the coordinate axes.

Suppose the height (in meters) of a toy rocket launched from a platform is described by the function h, where 
[image: image3.emf]h(t)=-4.9t +1001 +2
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, and t is the time (in seconds) since the rocket was launched.
7. What was the height of the rocket at the time of launch?  ____________________________________

8.  You have a cake recipe that calls for a rectangular baking pan that is 8” x 14”.  Suppose you want to bake the cake in a circular pan. To the nearest inch, what should be the radius of this pan?

9.  Expand and simplify:  
[image: image4.emf](2x+5)" =(2x=5)°
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Write the equations for these parabolas in vertex form. Then convert them to standard form.
	10.

[image: image5.png]



Vertex:  _______________

Axis of Symmetry:  _________________

Equation (vertex form): __________________________

Equation (standard): _____________________________
	11.

[image: image6.png]



Vertex:  _______________

Axis of Symmetry:  _________________

Equation (vertex form): __________________________

Equation (standard): _____________________________




Expand these binomials:

	12.  (2x + 3)(5x – 1)


	13.  
[image: image7.emf](2x-1)
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	14.  (2a + 3b)(3a + b)


	15.  
[image: image8.emf](3x+2y)’
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Use the method of “Completing the Square” to convert these equations from Standard to Vertex form.

16.  
[image: image9.emf]y=x"+12x+3
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17.  
[image: image10.emf]y=x"-10x-5
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18.  
[image: image11.emf]y=3x"+30x+2
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Answers:
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1.  
[image: image12.emf]y-5=2(x+4)
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2.  (-2, 13)

3.  True

4.  (-4, -3)

5.  x = -4

6.  (graph) -------------------------------------------(
7.  2 meters

8.  about 6”

9.  40x

10. vertex: (-1,-5); axis: x = -1

      vertex form: 
[image: image13.emf]y+5=2(x+1)°
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      Standard form: 
[image: image14.emf]y=2x"+4x-3
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11. vertex: (-1,2); axis: x = -1  
       vertex form: 
[image: image15.emf]1 2
—2=——(x+1
y 2( )
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       Standard form: 
[image: image16.emf]
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12.  
[image: image17.emf]10x* +13x-3
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13.  
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14.  
[image: image19.emf]6a’ +11ab +3b*
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15.  
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16.  
[image: image21.emf]y+33=(x+6)°
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17.  
[image: image22.emf]y+30=(x-5)
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18.  
[image: image23.emf]y+73=3(x+5)
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